6.6 Scanning order array initialisation process

Input to this process is a block widthsize blkWidth and a block height blkHeight.

Output of this process is the array ScanOrder[ scanIdx ][ pos ][ comp ]. The array index scanIdx equal to 0 specifies a zig-zag scan as specified in subclause 6.5.1.
 with blkWidth and blkHeight as inputs, scanIdx equal to 1 specifies a horizontal scan, scanIdx equal to 2 specifies a vertical scan, and scanIdx equal to 3 specifies an up-right diagonal scan in subclause 6.5.2. The array index pos specifies the scan position ranging from 0 to ( blkWidth * blkHeight ) − 1. The array index comp equal to 0 specifies the horizontal component and the array index comp equal to 1 specifies the vertical component. The array ScanOrder is derived as follows.

ScanOrder[0] = ZigZag

i  =  0
y  =  0
if (blkWidth < 16) {
  while( y  < blkHeight ) {

x  =  0

while( x  <  blkWidth ) {


ScanOrder[ 1 ][ i ][ 0 ]  = x


ScanOrder[ 1 ][ i ][ 1 ]  = y


x++


i++

}

y++
  }
}
else if (blkWidth ==16) {
    ScanOrder[1] = ScanOrderH16
} 
else if(blkWidth ==32) {
    ScanOrder[1] = ScanOrderH32
}
i  =  0
while( i  < blkWidth * blkHeight) {
    ScanOrder[ 2 ][ i ][ 0 ] = ScanOrder[ 1] [ i ]>>log2(blkSize) 
    ScanOrder[ 2 ][ i ][ 1 ] = ScanOrder[ 1] [ i ]%log2(blkSize)
}

ScanOrder[3] = DiagScan


Table 7‑16 – Specification of ScanType[ log2TrafoSize − 2 ][ IntraPredMode ]
	IntraPredMode
	log2TrafoSize − 2

	
	0
	1
	2
	3

	0
	1
	1
	1
	1

	1
	2
	2
	2
	2

	2-3
	0
	0
	0
	0

	4-5
	1
	1
	0
	0

	6
	0
	0
	0
	0

	7-8
	2
	2
	0
	0

	9-10
	0
	0
	0
	0

	11-12
	1
	1
	0
	0

	13-14
	0
	0
	0
	0

	15-16
	2
	2
	0
	0

	17-19
	0
	0
	0
	0

	20
	1
	1
	0
	0

	21-22
	1
	1
	1
	1

	23
	1
	1
	0
	0

	24-27
	0
	0
	0
	0

	28
	2
	2
	0
	0

	29-30
	2
	2
	2
	2

	31
	2
	2
	0
	0

	32-33
	0
	0
	0
	0

	34
	0
	0
	0
	0

	35
	0
	0
	0
	0


